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Attempt ALL five questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Each question carry equal marks (14 marks)
English version is an authentic version.

Define: static head, Static pressure, Gauge pressure, Absolute pressure,
Dynamic pressure, Total pressure, Vacuum.
Write an equation of pressure for Simple U Tube & Inclined manometer.

Describe Reynolds Experiment. And give significance of Reynolds No.
Derive Bernoulli’s Equation.

OR
Write a short note on friction loss in fittings & valves.

A simple U-tube manometer is installed across an orifice meter. The
manometer fluid is mercury ( sp.gr.13.6) and flowing fluid through pipe is
carbon tetrachloride (sp.gr. 1.6). The manometer reads 200mm. What is the
pressure difference over a manometer in N/m? 2. Take g= 9.81
Draw a figure of Globe & Gate valve with nomenclature.

OR
Describe construction & working of Centrifugal Pump.
Write about compressor & fans.

What is cavitation? What is the effect of it on pump performance?
Write about the construction & working of Rotameter.

OR
Derive an equation for Orifice meter.
A fluid having viscosity 0.04 kg/m (s) , density 890 kg/m®, flowing through a
pipe of 0.24m dia with 0.3m/s velocity. Calculate Reynols Number and
friction factor.

What is conveying? Differentiate Hydraulic & Pneumatic conveying.
What is fluidization? Describe with figure.
OR
Describe Rectangular notch with figure.
What is the importance of fittings?
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